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TEST - I  
 

10 Mark  
 

1. An advertisement board is in the form of an isosceles triangle with perimeter 36m and 

each of the equal sides are 13 m. Find the cost of painting it at ₹ 17.50 per square metre. 
,U rkgf;f Kf;Nfhz tbtpYs;s xU tpsk;gug; gyifapd; Rw;wsT 36 kP kw;Wk; mjd; 
xt;nthU rkgf;fj;jpd; ePsk; 13 kP MFk;. mjw;F tz;zk; G+r xU rJu kPl;lUf;F ì 
17.50 tPjk; MFk; nryitf; fhz;f. 
Solution:  

  Perimeter = 2a + b  
  36 = 2 (13) + b    

b = 10 m  

 h = 2 21
4

2
a b  

 h = 2 21
4(13) (10)

2
  

h = 12 m  

  

Area of the Triangle = 2 2h a h   

    = 2 212 (13) (12)  

    = 12 × 5 
    = 60 m2 
 Cost of Painting per square meter = Rs. 17.50  
  Test cost = 60 × 17.50 = Rs. 1050  
 

2. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 
A. A and B together can do a piece of work in 16 days. but A alone can do it 24 days. 

How many days would B alone take to do the same work? 
xU Ntiyia A, B ,UtUk; Nrh;e;J 16 ehl;fspy; Kbg;gh;. A kl;Lk; mt;Ntiyia 
24 ehl;fspy; Kbg;ghh;. B kl;Lk; mt;Ntiyia vj;jid ehl;fspy; Kbg;ghh;. 

  Solution:  
  A & B can do a work in 16 days  

  (A + B)'s one day work = 
1

16
 

  (A)'s one day work = 
1

24
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  (A+B) – A = 
1 1

16 24
  

   B = 
3 2

48


 

   B = 
1

48
 

  B can do a work alone in 48 days 
 

B. Find the Lateral Surface Area, Total Surface Area and volume of a cube of side 5 
cm. 
5 nr.kP gf;f msT nfhz;l fdr;rJuj;jpd; gf;fg;gug;G> nkhj;j gug;G kw;Wk; fd 
msT fhz;f.  
Solution  

  Lateral Surface Area, Total Surface Area = 4a2 = 4(52) = 100 sq. cm 
  Lateral Surface Area, Total Surface Area = 6a2 = 6 (52) = 150 sq. cm 
   Volume = a3 = 53 = 125 cm3 
 

3. A toy is in the shape of a cylinder surmounted by a hemisphere.  The height of the toy is 
25 cm.  Find the total surface area of the toy if its common diameter is 12 cm. 
Xu; cUisapd; kPJ Xu; miuf;Nfhsk; ,ize;jthW cs;s xU nghk;ikapd; nkhj;j 
cauk; 25 nr.kP MFk;.  mjd; tpl;lk; 12 nr.kP vdpy;> nghk;ikapd; nkhj;jg; Gwg;gug;igf; 
fhz;f. 

Solution:  
 Let r and h be the radius and height of the cylinder  respectively.  
 Given that, diameter d = 12 cm, radius r = 6 cm  
 Total height of the toy is 25 cm  
Therefore, height of the cylindrical  
   portion = 25 – 6 = 19 cm  
 

  
      
T.S.A. of the toy = C.S.A of the cylinder + C.S.A of the hemisphere + Base Area of the 
cylinder  

    = 2 22 2rh r r        
    = (2 3 ) .r h r sq units   

    = 
22

6 (38 18)
7
    

    = 
22

6 56 1056
7

     

 Therefore, T.S.A of the toy is 1056 cm2  
 

4. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 
A. Shabhana takes 2 hours to travel 35 km. How much distance she would have 

travelled in 6 hours?  
~ghdh 35 fp.kP J}uj;ijf; flf;f 2 kzp Neuk; MFnkdpy; 6 kzp Neuj;jpy; 
vt;tsT J}uj;ij flg;ghh;?  

 Solution:  
  D & T (direct proportional) ; (speed constant) 
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  Speed = 
tanDis ce

Time
 

   
35

2 6

x
  

  x = 105 km  
 

B. Two taps can fill a tank in 30 minutes and 40 minutes. Another tap can empty it in 
24 minutes. If the tank is empty and all the three taps are kept open, in how much 
time the tank will be filled? 
xU njhl;bia ,U Foha;fs; jdpj;jdpNa KiwNa 30 epkplq;fs;> 40 epkplq;fspy; 
epug;gfpd;wJ. kw;nwhU Foha; ePH; epuk;gpa njhl;bia 24 epkplq;fspy; fhyp nra;Ak;. 
njhl;b fhypahf ,Ue;J ,k;%d;W Foha;fSk; xNu rkaj;jpy; jpwe;J tplg;gl;lhy; 
mj;njhl;b vj;jid epkplq;fspy; epuk;Gk;?  
Solution:  

   Quantity of water filled by the first tap in one minute = 
1

30
 

   Quantity of water filled by the second tap in one minute = 
1

40
 

   Quantity of water emptied by the third tap in one minute = 
1

24
 

   Quantity of water filled in one minute,    
1 1 1

30 40 24
   

              when all the 3 taps are opened    

      
4 3 5 7 5

120 120

  
   

      = 
2 1

120 60
   

  Time taken to fill the tank = 
1

1
60

= 60 minutes  

      = 1 hour    
 

5. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 
A. A soap factory produces 9600 soaps in 6 days working 15 hours a day. In how 

many days will it produce 14400 soaps working 3 hours more a day? 
xU Nrhg;Gj; njhopw;rhiyahdJ ehnshd;Wf;F 15 kzp Neuk; Ntiy nra;J 6 
ehs;fspy; 9600 Nrhg;Gfis jahhpf;fpwJ. ehnshd;Wf;F $Ljyhf 3 kzp Neuk; 
Ntiy nra;J 14400 Nrhg;Gfs; jahhpf;f mjw;F vj;jid ehs;fs; MFk;?  

  Solution:  
  Let the required number of days be x.  

 

Soaps Hours Days 

9600  15 6 

14400 15 +3) = 18 x 

 
 To produce more soaps more days required.  
 It is direct proportion  
 Multiplying factor = 14400 / 9600  
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 If more hours spend, less days required  
 If is indirect proportion.  
 Multiplying factor = 15/18  
 x = 6 × 14400/9600 × 15/18  

 
6 14400

12
3

15

9600



8 2

18
6

 

 x = 15/2 
 15/2 days will be needed.  

 
B. Thulasi's mother wears a bracelet made of 35 red beads and 30 blue beads. Thulasi 

wants to make smaller bracelets using the same two coloured beads in the same 
ratio. In how many different ways can she make the bracelets?  
Jsrpapd; jha; 35 rptg;G kzpfs; kw;Wk; 30 ePy kzpfisf; nfhz;l iff;fhg;G 
mzpe;J ,Uf;fpwhh;. Jsrp mNj tpfpjj;jpy; rpwpa iff;fhg;ig mNj ,Utz;z 
kzpfisg; gad;gLj;jpr; nra;a tpUk;Gfpwhs;. mtshy; vj;jid ntt;NtW 
topfspy; iffhg;Gfisr; nra;a ,aYk;?  

  Solution:  
  Ratio of red beads: blue beads = 35 : 30 = 7 : 6  
  Also given that the bracelet made is smaller in size  
  The possible ways are red beads : blue  
  beads = 7 : 6 (or) 14 : 12 (or) 21 : 18 (or) 28 : 24  
 
  In 4 different way can she made.  

   
6. Arul has to make arrangements for the accommodation of 150 persons for his family 

function. For this purpose, he plans to build a tent which is in the shape of cylinder 
surmounted by a cone. Each person occupies 4 sq. m of the space on ground and 40 cu. 
meter of air to breathe. What should be the height of the conical part of the tent if the 
height of cylindrical part is 8 m?  
mUs; jdJ FLk;g tpohtpw;F 150 egh;fs; jq;Ftjw;F xU $lhuk; mikf;fpwhh;. 
$lhuj;jpd; mbg;Fjp cUis tbtpYk; Nkw;gFjp $k;G tbtpYk; cs;sJ. xUth; 
jq;Ftjw;F 4 r.kP mbg;gFjp gug;Gk; 40 f.kP fhw;Wk; Njitg;gLfpwJ. $lhuj;jpy; 
cUisapd; cauk; 8 kP vdpy;> $k;gpd; cauk; fhz;f. 
Solution:  

Let h1 and h2 be the height of cylinder and cone respectively.  
  Area for one person = 4 sq.m    
 Total No. of persons = 150  
 Therefore total base area = 150 × 4   

     2 600r   

volume of air required for 1 person = 40 m3   
Total volume of air required for 150 persons  
   = 150 × 40 = 6000 m3   

    2 2

1 2

1
6000

3
r h r h     

   2

1 2

1
6000

3
r h h
 

   
 
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2

1
600 8 6000

3
h

 
   

 
    (using (1)  

   
2

1 6000
8

3 600
h    

   
2

1
10 8 2

3
h     

Therefore, the height of the conical tent h2 is 6 m  
 
15 Mark  
 

1. A 14 m wide athletic track consists of two straight sections each 120 m long joined by 
semi-circular ends with inner radius is 35 m. Calculate the area of the track. 
14 kP mfyKs;s Xh; XLjsg; ghijahdJ 120 kP ePsKs;s ,uz;L Neh;g; gFjpfisAk; 
cs; Muk; 35 kP msTs;s ,U miu tl;lg; gFjpfisAk; nfhz;Ls;sJ. me;j XL 
ghijapd; gug;gsitf; fzf;fpLf.  
Solution:  
  Radius of the inner semi circle (r) = 35 m  
  width of the track = 14 m  
  Radius of the outer semi circle R = 35 + 14 = 49 m  
  Area of the Rectangular tracks ABCD and EFGH = 2 (l × b)  
          = 2 × 14 × 120  
          = 3360 m2  

  Area of semi circular tracks = 2 21 1
2

2 2
R r 

 
  
 

 

     =  2 21
2

2
R r    

     =  2 222
49 35

7
   

     = 
22

(49 35)(49 35)
7

   

     =
22

84 14
7
   

     = 3696 m2 
   Area of the track = 3360 + 3696 = 7056m2  
 

2. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 
 
A. A and B can do a piece of work in 12 days and 9 days respectively. They work on 

alternate days starting with A on the first day. In how many days will the work be 
completed? 
A kw;Wk; B MfpNahh; xU Ntiyia KiwNa 12 ehs;fs; kw;Wk; 9 ehs;fspy; 
nra;th; Kjy; ehs; A If; nfhz;L Ntiyiaj; njhlq;fp mLj;jLj;j ehs;fspy; 
,UtUk; Ntiyia nra;fpd;wdh; vdpy;> NtiyahdJ vj;jid ehs;fspy; KbAk;? 

 Solution: 
 Since they work on alternate days, let us consider a period of two days. 

 In the period of 2 days, work done by A and B = 
1 1 7

12 9 36
   
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 If we consider 5 such time periods for the fraction 
7

36
 (we consider 5  periods 

 because 7 goes 5 times completely in 36), 

 work done by A and B in 5 × 2 (=10) days = 5 × 
7 35

36 36
  

 Therefore, the remaining work = 1− 
35 1

36 36
  

 This is done by A (why?) in 
1 1

12
36 3

   days  

 So, the total time taken = 10 days +
1

3
days = 

1
10

3
days  

 
B. One year ago, a man was 8 times as old as his son. Now his age is equal to the square of 

his son’s age. Find their present ages. 
 xU tUlj;jpw;F Kd;G> xUthpd; taJ mtUila kfdpd; taijg;Nghy; 8  klq;F. 
jw;NghJ mtUila taJ> kfdpd; tajpd; th;f;fj;jpw;Fr; rkk;  vdpy;> mth;fSila 
jw;Nghija taijf; fhz;f.  

Solution:  
Let x be the age of the son one year ago, then the age of the man was 8x.  
The present age of the son is (x + 1) and that of the man is (8x + 1). Then, 
 8x + 1 = (x + 1)2  
 8x + 1 = x2 + 1 + 2x  
 x = 0, 6  
As the age cannot be 0, so the value of x is 6.  
So, present age of son (x + 1) = 7 years  
and present age of man = (8x + 1) = 49 years  

 
3. Answer the following questions  

gpd;tUk; tpdhf;fSf;F tpilasp 
 

A.  A metallic sheet in the form of a sector of a circle of radius 21 cm has  
 central angle of 216°. The sector is made into a cone by bringing the  bounding 
radii together. Find the volume of the cone formed. 
xU tl;lf;Nfhz tbtpy; cs;s cNyhfj; jfl;bd; Muk; 21 nr.kP kw;Wk; ikaf; 
Nfhzk; 216° MFk;. tl;lf;Nfhzg; gFjpapd; Muq;fis ,izj;J cUthf;fg;gLk; 
$k;gpd; fd msitf; fhz;f.  
Solution:  

Length of arc of a sector = 12
360

r





  

    = 
216

2 21
360



 


 

   =  
3 126

2 (21)
5 5

cm


   

 
Since sector is made into a cone by  
bringing the bounding radii together.  
 
Circumference of base of the cone = length of arc of a sector 
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radius of base of cone, r = 
126

2
5

r


   
63

5
r cm  

and radius of sector = slant height of cone  

Height of cone, h = 
2

2 2 2 63
(21)

5
l r

 
   

 
 

   = 441 158.76  

   = 282.24 16.8cm  

volume of cone = 21

3
r h  cu. units 

   = 
1 22

12.6 12.6 16.8
3 7
     

   = 
58677.696

21
 

   = 2794.176 = 2794.18 cm3  
 

B. Three coins each 2 cm in diameter are placed touching one another. find    the area 
enclosed by them.  
2 nr.kP tpl;lKila %d;W ehzaq;fs; xd;iwxd;W njhLkhW milf;fg;gl;Ls;sJ. 
vdpy; ,tw;why; milgLk; gFjpapd; gug;G vd;d?  

 solution:  
 In the figure, ABC is an equilateral triangle.  

 Area of an equilateral triangle = 23

4
a  

     = 
3

2 2 3
4
         

  60A B C      ( The triangle is an equilateral)  

  Area of one sector = 
60 22 11

1 1
360 7 21


   


 

  Area of three sectors = 
11 11

3 1.571
21 7
    

  The area enclosed by them = 1.732 – 1.571  
       = 0.161 cm2  

 
4. A container open at the top is in the form of a frustum of a cone of height  

16 cm with radii of its lower and upper ends are 8 cm and 20 cm  
respectively.  Find the cost of milk which can completely fill a container  
at the rate of ` 40 per litre. 
cauk; 16 nr.kP cila xU $k;gpd; ,ilf;fz;l tbtpy; mike;j nfhs;fyd; xd;wpd; 
Nkw;Gwk; jpwe;j epiyapy; cs;sJ.  fPo;g;Gw Muk; 8 nr.kP kw;Wk; Nkw;Gw Muk; 20 nr.kP 
nfhz;l nfhs;fydpy; KOikahfg; ghy; epug;gg;gLfpwJ. xU ypl;lu; ghypd; tpiy ` 40 
vdpy;> epug;gg;gLk; ghypd; nkhj;j tpiyiaf; fhz;f. 
Solution: 
   Height of the frustrum (h) = 16 cm 
   Radius of the upper part (R) = 20 cm     
   Radius of the lower part (r) = 8 cm  

    2 21
[ ]

3
h R r Rr    cu.units  
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  volume of the frusturm  

  2 21
[ ]

3
h R r Rr   cu.units  

  = 2 21 22
16[20 8 20 8]

3 7
       

  = 3 322 16 624 22 16 208

3 7 7
cm cm

   



 

  = 373216
10459.43

7
cm  

  = 
10459.43

10.45943
1000

lit lit  

  = 10.459 lit  
  cost of the milk in the container  
  = 10.459 × 40 = ì 418.36 
  cost of the milk = ì 418.36  
     

5. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 
A.  The floor of an office building consists of 200 rhombus shaped tiles and each of its 

length of the diagonals are 40 cm and 25 cm. Find the total cost of polishing the floor at ì 
45 per sq.m. 
XH mYtyff; fl;blj; jiuapy; 200 rha;rJu tbtpyhd XLfs; gjpf;fg;gl;Ls;sd. 
XLfspd; %iytpl;lq;fspd; msTfs; 40 nr.kP kw;Wk; 25 nr.kP vdpy;> jiuia 
nkU$l;lr; rJukPl;lUf;F ì 45 tPjk; nkhj;jr; nryitf; fhz;f.  

 Solution:  
 Given, the length of the diagonals of a rhombus shaped tile are 40 cm  and 25 cm  

 The area of one tile = 
1

2
 × (d1× d2) sq. units   

   = 
1

2
× 40 × 25  

   = 500 sq. cm  
 Therefore, the area of 200 such tiles = 200 × 500  
    = 100000 sq. cm  

  
100000

10000
= (1 sq. m = 10000 sq. cm)  

       = 10 sq. m  
 Therefore, the cost of polishing 200 such tiles at the rate of ì 45 per  sq. cm = 10 × 
 45 = ì 450.  
 

B. 4 Indians and 4 Chinese can do a piece of work in 3 days. While 2 Indians and 5 
Chinese can finish it in 4 days. How long would it take for 1 Indian to do it? How long 
would it take for 1 Chinese to do it?  
4 ,e;jpah;fs; kw;Wk; 4 rPdh;fs; Nrh;e;J 3 ehs;fspy; xU Ntiyia Kbf;fpwhh;fs;. 2 
,e;jpah;fs; kw;Wk; 5 rPdh;fs; Nrh;e;J mNj Ntiyia 4 ehs;fspy; Kbf;fpwhh;fs; 
vdpy;> ,g;gzpiaj; jdpahf xU ,e;jpah; vj;jid ehs;fspy; nra;thh;? xU rPdh; 
jdpahf vj;jid ehs;fspy; nra;thh;?  
Solution:  

 



 

9 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 

 

  Indian can do in 1 day = 
1

x
 work  

  Chinese can do in 1 day = 
1

y
 work  

  Indian and chinese together can do in 1 day = 
1 1

x y
  work  

   4 Indian and 4 chinese together can do 1 day  

     = 
4 4

x y

 
 

 
 work  

   4 Indian and 4 chinese together can do in 3 day 

     = 3 
4 4

x y

 
 

 
 work  

     = 12 
1 1

1
2 y

 
  

 
 

     
1 1 1

12x y
       (1)  

  2 Indian and 5 chinese together can do 1 day  

    = 
2 5

x y

 
 

 
work  

    
2 5 1

4x y
        (2)  

    
5 2 1 2

4 12y


   

    
3 3 2

12y


  

    
3 1

12y
  

    y = 12 × 3  

y = 36  

   
1 1 1

36 12x
   

   
1 1 1

12 36x
   

  
1 3 1

36x


  

  
1 2

36x
  

   
 
1 Indian can do the work in 18 days while 1 chinese can do the work in 36 days  
 

6. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 
 

x = 18 days  
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A. The radius of a circular cricket ground is 76 m. A drainage 2 m wide has to be 
constructed around the cricket ground for the purpose of draining the rain water. Find 

the cost of constructing the drainage at the rate of ₹180/- per sq.m. 
tl;l tbt kl;ilg; ge;Jj; (cricket) jplypd; Muk; 76 kP. me;jj; jpliyr; Rw;wpYk; 2 kP 
mfyj;jpy; kioePh; tbtjw;fhd tbfhy; (drainage) mikf;f Ntz;bapUe;jJ. xU rJu 
kPl;lUf;F ì180 tPjk; nrythdhy;> me;j tbfhy; mikf;fj; Njitahd nkhj;jj; 
njhifiaf; fhz;f.  
solution:  

  The radius of the inner circle (cricket ground), r = 76 m 
  A drainage is constructed around the cricket ground. 
  Therefore, the radius of the outer circle, R = 76 + 2 = 78 m 
  We have, area of the circular path =   (R2 − r2) sq. units 

     = 2 2( ) .R r sq units   

     = 2 222
(78 76 )

7
 

 
 

     = 
22

(6084 5776)
7
   

     = 
22

308
7
  

     = 22 × 44 = 968 m2 

 Given, the cost of constructing the drainage per sq.m is ₹180. 

 Therefore, the cost of constructing the drainage = 968 × 180 =  ₹1,74,240 
   

B.  Raju planned to stitch a cover for his two speaker boxes whose length, breadth and 
height are 35 cm, 30 cm and 55 cm respectively. Find the cost of the cloth he has to buy 
if it costs ì 75 per sq.m. 
ePsk;> mfyk; kw;Wk; cauk; 35 nr.kP> 30 nr.kP kw;Wk; 55nr.kP msTila ,U xypg; 
ngUf;fpfSf;F uh[_ ciw ijf;fj; jp;l;lkpl;lhd;. ciw ijf;f xU rJu kPl;lUf;F 
MFk; nryT ì 75 vdpy;> nkhj;j nryitf; fhz;f.  
Solution:  

 surface area of both covers = 2 (CSA + base)  
    = 2 × {2 (l+b) h + lb} 
    = 2 × {2(35+30) 55 + 35 × 30}   
    = 2 × {130 × 55 + 1050} 
    = 2 × (7150 + 1050)  
    = 2 × 8200 
    = 16400 sqcm  
    = 1.64 sqm  
  cost of cloth = 1.64 × 75 = ì 123  
 
 

 

 


